Soustraction Avec Des Zéros (G)

100

-16

10

10

10

Calculez la différence.

100 100
- 67 -73
10 100
-5 -23
100 100
- 25 -71
100 100
- 54 -76
10 10
-8 -7
100 100
- 58 - 25
10 10
-2 -1

100

- 26

10
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Soustraction Avec Des Zéros (G) Réponses

Calculez la différence.

100 100 100 10
-16 - 67 -73 -4
84 33 27 6
10 10 100 10
-6 -5 -23 -1
4 5 77 9
10 100 100 100
-10 - 25 -71 -7
0 75 29 93
10 100 100 10
-10 - 54 -76 -9
0 46 24 1
10 10 10 10
-7 -8 -7 -2
3 2 3 8
10 100 100 100
-6 - 58 - 25 - 26
4 42 75 74
10 10 10 10
-5 -2 -1 -3
5 8 9 7
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